A S C HEREEREL
EmamH

1HESENERE  REmENAREERE -
2EETMMEA ARSI REIEERS -
3ENBEEE  UMBRAXEEMNSESER -

| ASCA EHMHEIZREGE | 040~0100 e P.073
[ASCC A A IZ RG] | 040~0100 e P.082
[ASCD B@ O HEABRREL| 040~0100 o P.084

068



JFC ASCHEIZEE R ET

B RIS EERREA

° 5?E$LEIET_?&1EU(T§§L%T‘L)_JZLME'J( ER)HH
o RTEMIMREIN TIERSI(Kgf/cm?)
° EB”Hjjjjt/J\(Kg)
o WMIEmUNKRERABELIRE
BRI RPEIEEX60% (ZEEEIHEMER) = B H
5 6L A £ (mm) 40~ 506380100
EFEED BIE BT R (B HBEM/ISO-VG32)
T E B2 7 (kgf/cm?) 0.5~9.9
TYERE(Q 0~+60
5 2 R E (m/s) SN
240 24
BEEEE(MM) @50 ~ @63 26
@80 ~ @100 30
EHAD SNEBOIBAEE (B P U BITANBEIEMEREMRRE)
=
52 5 L 7] 2R (kg AF)
AEE B 1K £ ZBEETE TEEH (kgf/cm?)
(mm) (mm) ysBC) (cm?) 3 4 5 6 7 8
20 16 # 12.56 38 50 63 75 88 100
fiI 10.56 32 42 53 63 74 84
5 20 # 19.63 59 79 98 118 137 157
fiI 16.49 49 66 82 99 115 132
63 20 # 31.16 93 125 156 187 218 249
I 28.02 84 112 140 168 196 224
. o i3 50.24 151 201 251 301 352 402
I 45.34 136 181 227 272 317 363
100 30 # 78.5 236 314 393 471 550 628
I 71.4 214 286 357 428 500 571

3R, ] ¥ 48

A1 (mm)
milfEsE | REXRT | REXE | MM ERBREL | AR | #HNHEE
40| 50|63 |80 (100
EEREL ASC-A — ASC-AG ASC-AJ | ASC-AH | e |e o |e]e
Lahmal ASC-C —_— ASC-CG ASC-CJ ASC-CH o|lo|o oo
LahEER
s et ASC-D A ASC-DG ASC-DJ | ASC-DH |e|o e |e]e

069



JFC

Ao E SR

ASCHEBIEAE RIET

B {i:g(A%)
o Bett rB/Fa| LB | cA | cB | TC |CBBK |TCBK| Y |TA/TB| KGT | PSH
40 220 | 120 | 320 | 230 | 540 | 470 | 1120 | 390 | 280 | 142 | 114
50 340 | 160 | 420 | 380 | 660 | 740 |1120 | 400 | 280 | 552 | 200
63 480 | 220 | 540 | 480 | 740 | 740 | 1120 | 400 | 280 | 552 | 200
80 | 1260 | 360 | 1400 | 992 | 1240 | 2210 | 1580 | 892 | 720 | 808 | 372
100 | 1840 | 480 | 1820 | 1520 | 1580 | 2210 | 1580 | 892 | 720 | 808 | 372
ABBEEEHRE

(G377 TraTE #HE (G TfratE HE
D L W) 1 @ TEEORIR 1
@ i 1 @3 R EEMY FEIR 1
©) AEHE 1 19 ®’E 1
@ mE 1 @3 R EETHERIRNE 1
® AlE 1 16 EEHE 4
® BENE 2 @ & E T HR 08 8
@ iz OBIR 2 a8 R 4
TREE 2 @9 EEEMORIR 2
© AN 1 @9 EEEG 2
19 EENE 1 @) BRIFA 2
ap RS 1

070



JFC ASCHEIZEE R ET
E{i:g(/A%)

EI1E(mm) 40 50 63 80 | 100
SDE! {7#2ST=08F 808 | 963 | 1573 | 2597 | 3444

(TR2EIEANS0mmEs > 1EINRYE=| 100 | 200 | 200 | 300 | 300

ZEHEER

BE{il:g(/ATT)
AR
- 40 50 63 80 100
THFBIT
AE4A * 146 204 358 549 747
N
= ;g% 123 173 307 480 717
SEEME 81 156 193 339 473
e VA P e : ——
Al = #H 2= i = A
e | EuEE |(HE 2% | THEE (%= | FHaE |(#E
Q) |lwEHE 1 2 |#=E 1 EE 2
(4) |WE 1 (6) | EEHE 1 10 [FEHE 1
(5) |gi& 1 (7) | wEoRm 1 41 |merEsA 1
(6) |@@EsE 1 19 |#E@EIZigoRE | 1 12 |EEORIE 1
(7) |mEORIE 1 20 | #EETIRAA 1 13 |EEmMER 1
iEETIRIEORITE | 1 ) | BREBE 1 15 |E=pueizmg | 1
20 |#EETEAs 1
Q1) |[BEBE 1

ST IBRN

ASCA H - 40 1 100ST H A=
| | | | \
w5l | [mams| (e[ 7r |[=4an
| |
nE TILE
R Rl s =2 6

071



JFC ASCHEBIIZ & R

e YixuE
T
ER oD Ew o3
|
| s
s
s
] %ﬂ
k|
- -

o |08

RA @ Ew 0%

o ®| A | CB|CF|CA|RA| V |[EW| KK |CD

40 22 | 69 | 24 | 55 |15.5| 20 | 16 | M14x1.5 | 12
50 27 | 74 | 28 | 60 |15.5| 20 | 16 | M18x1.5 | 12
63 27 | 74 | 28 | 60 |15.5| 20 | 16 | M18x1.5 | 12
80 37 | 91 | 36 | 71 |22.5| 26 | 28 | M22x1.5 | 18
100 37 | 105 | 40 | 83 |24.5| 28 | 30 | M26x1.5 | 20

® PINGH

Fol | 1gmE (D Q| P |M|R
1o 40 - 10| 46 | 38| 4 | 3
sr| | 50 |Q@40 @50 @63 12 [55.5(47.5| 4 | 3
N T 63 _ 16|71 61| 5| 4
\?Z - @80 18 | 76.5/66.5| 5 | 4

‘ ) 80 @100 20 [ 83 | 73| 5 | 4

100 — 25 83| 78| 5 | 4

EE
o H B | C KK

40 8 22 | 25.4 | M14x1.5
50 11 27 31.2 | M18x1.5
63 11 27 31.2 | M18x1.5
80 13 32 37 M22x1.5
100 12 36 | 41.6 | M26x1.5

072



JFC ASCHEBYE# FET
ASCA 788t Bl & 4]

AX m 1R E 1T 12

RELAAE (mm) 221772 (mm)
40 50+ 75~ 100 * 125 ~ 200 »
50 250 ~ 300 ~ 350 ~ 400 * 450 ~
63 500 ~ 550 * 600 ~ 650 » 700 *
80 750 ~ 800 ~ 850 » 900 ~ 950 +
1000
100
gr=—me o
BX o 7] B8 3R 7R
ASCA - SD [+ 40 H100ST |- — -  Txn
REARY | mIIEHR | TR KK 78 || REET BhiniEEE | EEERES
T EE S o : = ZHRRCH | | V:YIZHE #H&:JFSO1
] (mmm) | |SDREE #040mm 2 | |(EER) Bt 8 ey
?JI c:mmst | |[raztzmm || 0™ || B INNeTHF | [nmm | |memEox
. : i G:G o
T e R - e | [ppnpapus
1= 80:80mm # PHS: @R | |"REKR2K
™ o 1 ?_ El
;-3 gﬁﬂgﬁ/m LBBARIRIEERS | [ 01 1 0omm é fj‘,ﬁ@; N:NPN3 5 i 43
-)I‘ﬁ = CAE LA ;ﬁﬁ. RERE2K
6 Urere | o n:HE
et | [emswm Prp——
; %? ;nciq £ | |[TC:HRERER ’E’E%f’f‘ ?E_’E’;F
2MAIE : (RMREL R M
B 0o RIERLE -
PN 7R 1 L 8

A=mm srEen THEBETEE

073



HE el

ASCHIERIZRERIET

G: FER H: @i EE
o)
il
=
48
SD: 1Z# 7Y FA[FB: B8 A5 LB: s mEa CA:E R cB:#ua
ﬁ
1%/ )
ft TC: hfEmER
G |
o Y:Y $%5E Il %58 PIN: £4 KGT: ;g 812 PHS: f&iRiEE
A £
= o
| &
I JFS-01 JFS-01(EEZ)
4
(E!
J&X
25

074




JFC ASCHEBIIZ & R

e ASCA-SDE A& A

2xEE

vp /(Rc, NPT, G) P
HBERESS | |

KK ey i | I —— E—%
—— _
7 — SEETEEER
N R
(L 6o o3
A A
-
—
L
Al — miE]
AL
A 1T
VF K K
H LL+ST M
7J+ST

m@%ﬂ%}ﬁ A |AL |EA | Bl | RR|{MM|BB|VF |YP | L DD TT | SS | M KK K | EE

40 30 27| 60| 22| 44|16 | 32|10 | 15| 8 | M8x1.25| 8 | 14 |11 M14x1l.5| 27 |1/4
50 35132| 70|27 | 52|20 |40|10 |17 | 11 | M8x1.25| 8 | 18 |11 [M18x1l.5/ 30 |3/8
63 35 (32| 8 |27 | 64| 20|40 |10 |17 | 11 |M10x1.25 8 | 18 |14 [M18x1l.5/ 31 | 3/8
80 40 | 37 |102| 32 | 78 | 25 | 52 | 14 | 21 | 13 |M12x1.75| 11 | 22 |17 M22x1.5| 37 |1/2
100 40 | 37 | 116| 41 | 92| 30 | 52 | 14 | 21 | 16 |M12x1.75| 11 | 26 |17 [M26x1.5| 40 |1/2

25
- LL| H |2z

40 84 | 51 |146
50 90 | 58 |159
63 98 | 58 |170
80 |[116| 71 |204
100 |126| 72 | 215

075




JFC ASCHEBIIZ & FITL

ASCA-FARI A

2xEE

 gEESS L_YP /(Rc, NPT, G) YpP
1 !

881 I I
ix S ==
-5 TET=E R ’g“
T:gjk‘a A Argglﬂégzi B |
|y .
L
L
AL B | I 77%
A T F K K ‘
RR
H LL+ST M =

Z)+ST TF

% A | AL | EF [B1 |RR[MM|FV |FB| F | L | DD |TT|SS|M | KK | K |EE

40 30 | 27| 71|22 |44 |16 |60 | 9 |12 | 8 |M8x1.25| 8 | 14 | 11 |M14x1.5 27 | 1/4
50 35 /3281|277 |52]20|70| 9 |12 |11 |M8x1.25| 8 | 18 | 11 |[M18x1.5 30 | 3/8
63 35 | 32[101| 27 | 64 | 20 | 86 |11.5] 15 | 11 |M10x1.25| 8 | 18 | 14 |M18x1.5 31 | 3/8
80 40 | 37 [119| 32 | 78 | 25 |102|13.5| 18 | 13 |M12x1.75| 11 | 22 | 17 |M22x1.5 37 | 1/2
100 |40 | 37 |133| 41 | 92 | 30 |116(13.5| 18 | 16 [M12x1.75/ 11 | 26 | 17 |M26x1.5 40 | 1/2

M;a% LL | H|zJ|EA |YP |TE| R |UF

40 84 | 51 |146| 60 | 15| 80 | 42 | 100
50 90 | 58 |159| 70 | 17 | 90 | 50 |110
63 98 | 58 |170| 85 | 17 |105| 59 |130
80 |116| 71 |204|102| 21 |130| 76 |160
100 |126| 72 |215|116| 21 |150| 92 | 180

076



JFC
5) 2 R > B

e ASCA-FB#%&%H

L-9FB

it}

ASCHEBIEA RIET

2xEE

(Rc, NPT, Q)

.. Asi Y.
ik ot e =
= il
L
! ” EE
A Tl ve K K
RR LL+ST F
EA 7J+ST
TF
UF
W;E‘?"‘: A | AL |EF |B1 |RR |[MM|FV |FB | F DD |TT|SS|VF| KK | K |EE
40 |30 27|71 22441660 9 | 12| 8 | M8x1.25| 8 | 14 | 10 |M14x1.5| 27 | 1/4
50 | 35|32|81 2752|2070 9 | 12|11 |M8x1.25] 8 | 18| 10 |M18x1.5| 30 | 3/8
63 | 35| 32 |101| 27 | 64 | 20 | 86 |11.5) 15 | 11 |M10x1.25| 8 | 18 | 10 |M18x1.5| 31 | 3/8
80 | 40| 37 |119] 32 | 78 | 25 |102[13.5] 18 | 13 [M12x1.75 11 | 22 | 14 |M22x1.5| 37 | 1/2
100 | 40 | 37 |133] 41 | 92| 30 |116/13.5] 18 | 16 |M12x1.75| 11 | 26 | 14 |M26x1.5| 40 | 1/2
W/;a%;}: LL| H|zJ|EA|YP|TF| R | UF | BB
40 | 84 | 5114760 | 15| 80 | 42 | 100] 32
50 | 90 | 58 |160| 70 | 17 | 90 | 50 | 110] 40
63 | 98 | 58 |171] 85 | 17 |105| 59 | 130] 40
80 |116] 71 |205|102| 21 [130] 76 | 160] 52
100 |126| 72 216|116/ 21 |150] 92 | 180] 52

077




JFC ASCHEBIIZ & KT
 SNR~TE |

e ASCA - LB#H A il gz BY

2xEE

B1 YP (RC,NPT,G)
il A TT, . VF ﬁ
i f AL T :
= |
N H = —SEETERRLK
: EHH e
z v | F
HHEEESS L

LL+ST

SA+ST

71+ST

™ A | AL [BL|MM| L |TT|SS|VF| K [EE| DD |[LL|ZJ|EA | KK [YP|R

40 30 (2722 16| 8 8 | 14 | 10 | 27 | 1/4|M8x1.25| 84 | 175| 60 |M14x1.5 15 | 44
50 3532|2720 (11| 8 | 18 | 10 | 30 |3/8|M8x1.25| 90 |188| 70 |M18x1l.5 17 | 52
63 35/32|27|20| 11| 8 | 18 | 10 | 31 |3/8 |M10x1.25/ 98 |206| 85 |M18x1.5 17 | 64
80 40 | 37|32 |25 | 13| 11 | 22| 14 | 37 | 1/2|M12x1.75/ 116 | 247|102 |M22x1.5 21 | 78
100 | 40 | 37| 41 | 30 | 16 | 11 | 26 | 14 | 40 | 1/2 [M12x1.75/ 126 | 258 |116 [M26x1.5 21 | 92

% AB | AH | SA | AT | LX | AE | AX |AO | BB

40 9 |40 |138|3.2|42 | 70 | 27 | 13 | 32
50 9 | 45|144|3.2| 50 | 80 | 27 | 13 | 40
63 |11.5 50 |166| 3.2 | 59 | 93 | 34 | 16 | 40
80 |13.5] 65 |204|4.5| 76 |116| 44 | 16 | 52
100 |13.5) 751|212 6 | 92 |133| 43 | 17 | 52

078



JFC ASCHEBIIZ & R

e ASCA-CAE B

2xEE

. /IRc,NPT, G) 0 10D
£8B1 | |

#BB
$MM
|
‘

HBEESS — — EAE

AL
A VF K K U EW

LL+ST LK RR

Z+ST LR
Z7J+ST

™ A | AL |B1|RR|[MM| L |SS|VF| K [EE| DD |LL|zJ|EA| KK |YP BB

40 30 | 27 | 22 |44 | 16 | 8 | 14| 10 | 27 | 1/4 [M8x1.25| 84 |175| 60 |[M14x1.5| 15 | 32

50 35 32|27 52|20 11| 18 | 10 | 30 | 3/8 |M8x1.25| 90 |195| 70 [M18x1.5| 17 | 40

63 35|32 |27 | 64|20 11 | 18 | 10 | 31 | 3/8 M10x1.25/ 98 |212| 85 |[M18x1.5| 17 | 40

80 40 | 37 | 32 | 78 | 25 | 13 | 22 | 14 | 37 | 1/2 M12x1.75/ 116|255 | 102 |M22x1.5| 21 | 52

100 40 | 37 | 41|92 | 30|16 | 26 | 14 | 40 | 1/2 M12x1.75/ 126|281 | 116 |M26x1.5| 21 | 52

o CD |EW | LK LR | U | Z

40 10 | 15 | 30 | 10 | 16 | 165
50 12 | 18 | 35 | 12 | 19 |183
63 16 | 25 | 40 | 16 | 23 | 196
80 20 |31.5] 48 | 20 | 28 | 235
100 25 |35.5| 58 | 25 | 36 | 256

079



JFC ASCHEBIIZ & FITL

e ASCA-CBE |8

2xEE

v /R¢, NPT, G) P L
881 ! !

m
ammiEy

|
iy

LT
Q

|

\

|

\

\

|

|

i

i

HBEESS E g

AL
A VF K K U EW

LL+ST LK RR

Z+ST LR
Z7J+ST

M;E?ﬁ A |AL |B1|RRIMM| L |SS|VF | K |EE| DD |LL|ZJ|EA| KK

40 30|27 | 22| 44|16 | 8 | 14| 10 | 27 | 1/4|M8x1.25| 84 |175| 60 [M14x1.5
50 35 /32|27 |52|20| 11| 18| 10 | 30 | 3/8|M8x1.25| 90 | 195| 70 |[M18x1.5
63 35(132| 27|64 |20 |11 | 18| 10 | 31 | 3/8|M10x1.25 98 |212| 85 |M18x1.5
80 40 | 37 | 32 | 78 | 25 | 13 | 22 | 14 | 37 | 1/2|M12x1.75/ 116 | 255 | 102 |[M22x1.5
100 40 | 37| 41|92 | 30|16 | 26 | 14 | 40 | 1/2|M12x1.75/ 126 | 281 | 116 |M26x1.5

M;E’?ﬁ CD|EW | LK |LR| U | Z |cz

40 10 | 15| 30 | 10 | 16 |165|29.5
50 12 | 18 | 35| 12 | 19 |183| 38
63 16 | 25| 40 | 16 | 23 |196| 49
80 20 [31.5) 48 | 20 | 28 |235| 61
100 25 |35.5/ 58 | 25 | 36 |256| 64

080



JFC ASCHEBIIZ & R

e ASCA-TCHREMmHEZR

2xEE

Z+1/25T [Rc, NPT, G)
LxBD YP YP
HBEESS ! ! !
i f i
Jﬁ}ﬁ\ Pf I ,,_,:f,a — 1 E IR
——]

T VF K LK K

TL ™ TL 7J+ST

Wg%ﬂ%}ﬁ A |AL |[B1 [RR MM | L |SS | VF| K |EE DD LL | ZJ | EA KK | YP | BB

40 30 (27 |22 |44 |16 | 8 |14 | 10 | 27 |1/4|M8x1.25| 84 | 146| 60 |[M14x1.5 15 | 32
50 35 (32|27 52|20 |11 | 18 | 10 | 30 |3/8 | M8x1.25| 90 | 159| 70 |M18x1l.5 17 | 40
63 35 (32|27 |64 |20 |11 | 18 | 10 | 31 |3/8 |M10x1.25| 98 | 170| 85 |M18x1.5 17 | 40
80 40 | 37 | 32 | 78 | 25 | 13 | 22 | 14 | 37 | 1/2 M12x1.75| 116 | 204 | 102 |M22x1.5[ 21 | 52
100 40 | 37 | 41 | 92 | 30 | 16 | 26 | 14 | 40 | 1/2 M12x1.75|126 | 215|116 |[M26x1.5[ 21 | 52

mﬁﬁ LK | z |TT |70 |T™ [UW |UuM | TL

40 22 193 | 8 | 15|85 |62 |117] 16
50 22 |103| 8 | 15| 95 | 74 |127| 16
63 23 |107| 8 | 18 |110| 90 |148| 19
80 34 129 | 11 | 25 | 140|110 |192 | 26
100 40 |135| 11 | 25 | 162|130 |214| 26

B MEMRKERRE 1TIEE100STU E(FRBEE100ST)e

081



JFC ASCHEBYE#E FET
ASCC 4L B jEx S 4T

pX iR 1T 7

FELATE (mm) 2#17%2 (mm)
40 50+ 75+ 100 ~ 125 ~ 200 »
50 250 ~ 300 » 350 ~ 400 ~ 450
63 500 ~ 550 » 600 ~ 650 » 700
80 750 ~ 800 ~ 850 » 900 * 950 -
100 1000
= —
DAL HEETD
ASCC H = SD = 40 H100ST H — i Txn
RELARY)| REITEHE | ZEER R RES 1718 | BEBYT |#himiEEE| | MEERKES
EREER FEAE R 40:40 = ZEH:RCHF | | V:ViZE #HH&:JFSO1
g | |(mmm) | |OFFE ME | |Geem) || s —
?E c:mmE | [Famgmm || 50%mm )| B NINPTH | | 113258 SR 2K
ik T . fm G:G
SN L el PPN T enpa
= 80:80mm % gl_;:,aﬁaﬁ& REGR2K
S . ) 17 gl
é SR/ | |LBHEBIER o 00 ) 2 = N:NPN 316 48
B i KOT2W | | jmamummosK
= o CAEWR 1558 il
B | fEeTe . n:ma
AEOC~ CBA Il B ACES
+ °C ’“;” Txnﬁﬂuu
2FMHE | |TCAMBE ETRA R
TEREM BRI -
&-10°C~ R B G 28

+120°C o
JFSO1

A=Ef rEEs THEETE

082



JFC ASCHEBIIZ & KT

e ASCC-SDE A& A

2xEE

LxDD HBEEESS Yp /(Rc NPT, Q) Yp M

B e
e — -
k= 1Y 1 _ _ _ NI
RSt - HE1 =
- | —
L [| L
AL ’:
7 — - 7
B VF K K VF
RR A WF LL+ST H+ST
EA 7J42ST
W@EE% A |AL [EA |B1 |RR |MM| BB |VF |YP | L DD TT [|SS | M KK K | EE

40 30|27 (60 | 22| 44|16 | 32|10 | 15| 8 |M8x1.25| 8 | 14 | 11 |M14xl.5 27 |1/4

50 35|32 |70 | 27| 52| 20| 40| 10 | 17 | 11 | M8x1.25 18 | 11 |M18x1.5/ 30 | 3/8

(00)

63 35|32 (85 | 27| 64| 20| 40| 10 | 17 | 11 M10x1.25] 8 | 18 | 14 |M18x1.5 31 |3/8

80 40 | 37 [102| 32 | 78 | 25 | 52 | 14 | 21 | 13 |M12x1.75| 11 | 22 | 17 |M22x1.5 37 |1/2

100 | 40 | 37 |116| 41 | 92 | 30 | 52 | 14 | 21 | 16 |M12x1.75| 11 | 26 | 17 |M26x1.5 40 | 1/2

525
| LL | H | ZJ | WF

40 84 | 51 |186| 21
50 90 | 58 |206 | 23
63 98 | 58 |214| 23
80 |116| 71 |258| 31
100 |126| 72 |270| 32

A FEHERGIHBRTE FRBASCABEBREL P074~P 081

083



JFC ASCHEBIIZ & KT

ASCD 88 o] iR 1 MR E R L

AX m iR E 1T 12

RELAE (mm) Z21712 (mm)
40 50+75+100+125+ 200~
50 250 ~ 300 ~ 350 ~ 400 ~ 450 ~
63 500 ~ 550 ~ 600 ~ 650 ~ 700 ~
80 750 - 800 ~ 850 ~ 900 * 950
100 1000
= e
Kmz] R
ASCD - - SD |+ 32 H100ST — H  Txn
RIELRY|  ®mElEHE | ZEER AEES 1772 | |ECBES HhimiEEE| | MIEERES
THARER A T 32:32 " ZEH:RCH | | Y:YHEEE #4&:JFSO1
g || (mEE) | |SOTEE "E | Grwm) || W —
R : = o T: 21 H 4R
i G: R AE FARTEmgE | | 4040mm {5} N:NPTZF | | L1288 1B 48 E 03K
_LE-I- H: 8 3 75 FB:f& LR 50:50mm an G:6HF PIN:# P:PNP 315t 47
e B 63:63mm E PHS:fIR | | REMR2K
. A T = %
% J gﬂéﬁ/ﬁﬁ LB SRR | [ g e N*: N;Zl;é,% Hi,f.s,%
8 - RS R2K
= o CABWAE | [100:100mm| — e
£ | LEBTE | [ n: ik
= BE0°C~ == 3 TEAHGIE
&I 2 MMHE TC:HRRmER (R SR R
TR REHE
E-10°C~ B 1 1R 28
+120°C
JFSO1 \\/
Az=pE =rEes THsEEE: ‘

084



JFC

e ASCD-SDE A& A

ASCHEBIEA RIET

2xEE

A ETCEREGFIINESRTE BEKIBASCAEEREL P073~P.081

085

LHERESS . Rc, NPT G) v
v |
H | |
N ]
D O —1— 01 e
- | |
— =—
i
AL | ] L
T
F K K 5|  D+EHTRE
A WF LL+ST H+STOI@TE2
77+2ST TIiRTTR
™ A | AL |EA |B1|RR|MM|BB| F [YP | L | DD |TT|SS|M | KK | K |EE
40 |30 | 27|60 | 22| 44 | 16 | 32| 10 | 15| 8 |M8x1.25| 8 | 14 | 11 |M14x15| 27 | 1/4
50 | 3532|7027 |52|20] 40| 10 | 17 | 11 |M8x1.25| 8 | 18 | 11 |M18x1.5 30 | 3/8
63 | 353285 | 27| 64 |20 | 40 | 10 | 17 | 11 M10x1.25 8 | 18 | 14 |M18x1.5| 31 | 3/8
80 | 40 | 37 |102] 32| 78 | 25 | 52| 14 | 21 | 13 M12x1.75 11 | 22 | 17 |M22xL.5] 37 | 1/2
100 | 40 | 37 |116| 41 | 92 | 30 | 52 | 14 | 21 | 16 |M12x1.75 11 | 26 | 17 |M26x1.5| 40 | 1/2
e LL | H |WF|2zZ | D | X
40 |84 46| 21| 181] 20 | 32
50 | 90 | 50 | 23 | 195] 20 | 38
63 | 98 | 54 | 23 |210| 25 | 38
80 |116] 60 | 31 |247| 25 | 44
100 |126] 62 | 32 |260] 25 | 44




